ERBEHEE 20 2 ERBHISHE 25 o

[~2a] | ~zmps | 700 [s2mpx| 05| mE6N | o |Fu—gE] 125 | 7u—Fx]| 730 | [ cxmpE] 755 [~2mex] 800 [26Ax<| o[ FU—FE] 820] [ BFHHMA]9:30]
[z8| [~zmpE| 755 |~ 2F;BH| 8:00 [26AT| | FU-—FE] 820 | | &TFHIA[9:30]
| BREALDVTIEAT - BR - NISTEZ
9/21 * -
ERRB B 20 o BB 25 b
[~2a] | zx#T Jieas|7u—rx[17a5] 20Amk | o[ ~z2mpE|1785] s2@Ex [1740| - |7V —FE] 1805 70 —F %[ 1810[ 26 A2 | - |12 Bi5E] 18:30]
[~z8] | 37T [1m0o|7u—3x|1730] 19AmE | - [~z2EgE|17:50]
[#-] | BFi7 [1m00] 20385 17:30] &E - BUE | - [ A70% 1750 cxmmumeTe | BNENMOVTIEAT - @R - NS THE |
ERRB B 20 o BB 25 b
[~2a] | ~zmps | 720 [s2mpx| 25| mE6N | o |FU—FE] 745 | 7u—Fx]| 750 | o[ xmpE] 815 [~x2mpx| 820 [26Ax<| o[ FU—FE] 40| [ BFHHM]9:50]
[z8| [~zmpE| 815 |~ 2Fpx| 820 [26A%T| | FU—FE] 840 | | &TFHIA[9:50]
| BNV TIEAT - ®R - NS THE
9/22 % -
ERRB B 20 o BB 25 b
[~2a] | 27%7 Juao|7u—rx[1500] 12AmE | - [~z2@gpE]1530] ~s2@Ex [1535] - |7V —F#E] 1600 70 —F %[ 16:05] 26 A x| - |12 psi5E] 16:25
[~2B] | %77 1630 7u—3x[1m00] 264 | - [~zmgE|17:20]
[ 2] | Z=7#7 [1630] 20585 17:00] &E - BUE | - [ A70% 1720 cxmmumeTe | BNENOVTIEAT - BR - NS THE |
ERRB B 20 o BB 20 b
[~2a] | ~zmps | 700 [~zmpx| 05| mE6N | o |Fu—gE] 125 | 7u—Fx]| 730 | o[ czxmpE] 755 [~2mex] 800 [26Ax<| o[ FU—FE] 820] [ BFHM]9:30]
[z8| [/zmpE| 755 |~ 2F;BH| 8:00 [26AT| | FU—FE] 820 | | &TFHIA[9:30]
| BREALDVTIEAT - BR - NISTEZ
9/23 + -
ERRB B 20 o BB 20 b
[~2a] | 27%7 Jes0|7u—7x[1700] 20Amt | - [~z2@gE|1720] s2EEH [17:25] - |7V —FE] 1750 70 —F %[ 17:55] 26 A x| - | xR psipE] 18:15]
[~2B] | zr#T |1585| 7u—Fx|1625] 19AmE | - |~ 2EpE|16:45] SRR [1650| - | 7V —FE] 1715 | o F8% | 18:30 e - wus| - | 2 EEE] 18:50|
| BREACDVTIHAT - BR - NISTEZ
ERRB B 20 o BB 20 b
[~2a] | ~zmps | 700 [~2mpx| 05| mE6N | - |Fu—gE] 125 | 7u—Fx]| 730 | - [szxmpE] 755 [ ~2mex] 800 [26Axc| o[ 7V —FE] 820] [ BFHMK]9:30]
LyEWES—|S2B| | S2EBE| 725 [~ 2EmBR| 130 [2605T| [ 7U—FE][ 750 | [ &THIA[9:00]
| BREALDVTIHAT - BR - NISTEZ
9/24 B .
ERRB B 20 o BB 20 b
[~2a] | 27%7 Jie20]|7v—7%[1650] :F26N |~ |EpsmE]17:10] Eeemsx [17:15] - | w7E [17:35]
[~2B| | %=7#7 [1615]| 7V —%[1645] #F26A | | ehRERAE | 17:05] | BNEAILDVTIEAT - BR - NS TEX
[w5-] [ 2EstrT [1830] 22 m5%][1850] ca/sns/mv| — [ErRRE]19:10] Ehkis [1915] - [ #71E [19:35]




